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Explanations and answers to select questions

10 Option (B) is the correct answer. The correct spelling is ‘Exhort’.
13 Option (C) is the correct answer. The four words are : Gain, Gait, Gnat and Gnaw.

16 Option (C) is the correct answer. Option (B) : “it’s” does not express possession. Optinon (C) :
“its” does. Option (B) : “it’s” is a contraction for ‘it is’.

19 Option (B) is the correct answer. ‘finished’ and ‘continued’, are the two past actions. So, the
earlier past action should be expressed using ‘past perfect’.

20 Option (D) is the correct answer. ‘One of’, ‘many’, so ‘gentlemen’.
21 Option (C) is the correct answer. Mom has ‘told’, not ‘said’; so option (B) is ruled out.

22 Option (D) is the correct answer. There is no comparison with anyone expressed and so a
comparative degree is not required, only the positive degree is enough.

23 Option (C) is the correct answer. The mention ‘these days’, plural of ‘this day’, refers to the
present time, so we use a verb that relates only to the present time.

26 Option (C) is the correct answer. In most expressions of quantity, the verb is determined by the
noun/pronoun that follows ‘of’. So, ‘book’ that follows ‘of’, ‘is’.

30 Option (D) is the correct answer. Either ‘Q" should be changed to “don’t need” or ‘to’ should be
removed from ‘R’.

33 Option (B) is the correct answer. As quick as lightning and as quiet as a mouse.

Please note that this key is within the purview of
Oxford Advanced Learner’s Dictionary, published in 2014.
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